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2025 OJÕoHO0l0eI Gnl0Toð GOmlrg GTUOÖSloi (GOMlgug OlolcelA9)28 

COMBINED DEPARTMENTAL/COMPETITIVE EXAMINATION FOR PROMOTION TO THE 
CADRE OF POSTAL ASSISTANT/ SORTING ASSISTANT FOR THE YEAR 202s 

"Icerya Purchasi" refers to 

(A) Treatment of injurious articles by post 
(B) Transmission of destructive insect by sample post 
(C) Article bearing matter prejudicial to the maintenance of law and order 
(D) Article bearing pictorial representation of a person who is proclaimed offender 

(i) 
Osmic Acid can be transmitted by Inland post 

(iü) 
|(iv) 

(1 
ii 

(A) (), (ii), (ii) and (iv) are corect 
(C)(), (ii) and (iv) are correct 

Securely packed as prescribed 

A 

Conditions for posting of Blind Literature 

PAPER-I 
PART- A 

With labelOSMIC ACID DANGEROUS TO HANDLE" 
Quantity does not exceed 5 grams 

(A) 
(B) 

More than l capsule should not be included in a parcel 

(ii) No limit of dimensions 

(C) 

(iv) To be posted in sealed covers 

Maximum weight 7 kilogram 

(A)(), (iü), (ii) and (iv) are correct 
(C) ), (i) and (iv) are correct 

The packet shall bear inscription Literature for the Blind. 

(B) (ii) and (iii) are correct 

The impressions of the franking machines recorded on postal articles may be 

(D) Only (ii) and (iv) are corect 

(B) (1) and (ii) are correct 
(D) ), (ii) and (iii) are corect 

1 

More than one impression of the value die but only one of the license die on each article 
More than one impression of the license die but only one of the value die on cach article 
Only one impression of the value die and one of the license die on each article 



6. 

7. 

8. 

(D) 

(n0lo 6)0-4lÓ uv3OMot) 

(A) 
(C) 

The franking Machine must be obtained by the licensee only from the firm authorized by 
the 

(i) 

What documents and information should be accompanied in the case of complaints of Loss, Miscarriage or destruction of Posta! Orders? 

Nonc of the above 

(ii) Office from which purchased 
(iü) Date of purchase 
(iv) Full address of the remitter 

Postmaster General 
Director General 

|(A) (), (), (iii) and (iv) are correct 

(ii 

(C) (0), (i) and (iv) are correct 

Counter foil or failing this Serial No. of the order 

Following shall not be recognized in payment of postage: 

(i) 

(ii) 
(iöi) 

(), (i0), (iii) and (iv) are correct 
(C) (), (ii) and (iv) are correct 

(iv) 

Defaced with rubber stamp 

(ii) Separated from embossed envelope, postcards or wrappers 
Defaced with pen 

(iv) Postage stamps otherwise rendered imperfect 

(C) 

(9OwlaO)4SO0lo moooJMOlo mlm 0o(OGO 

The prohibition for sale of postage stamps will not apply to 

(B) Chief Postmaster General 
(D) Divisional Head 

Philatelic Agency 

(B) ), (ii) and (ii) are correct 
(D) (i), (ii) and (iv) are corect 

Nehru Philatelic Club 

(A) (), (i), (ii) and (iv) are correct 
), (i) and (iv) are correct 

Hospital, Sanatorium or other similar institutions 

(B) ), (ii) and (iii) are correct 
(D) 

Institute for recreation of Defence Services Personnel 

2 

(), (ii) and (iv) are correct 

(B) 
(D) 

((), (i) and (iii) are correct 
(), (iii) and (iv) are correct 

9 

Conditions of the posting of packets containing more than one copy of the same issue of a 
registered newspaper: 

11. 

() 

() 
(i) 

(iv) 

(A) 
(C) 

Each packet shall contain only copies of the same registered newspaper and of 
the same date 

The packets shall be delivered at the addressee's residence 
The packets shall be addressed to the Local Agent of the Registered Newspaper 
at the place of destination 
Such packets shall be posted in the same post office and on the same fixed days 
as in the case of single copies of that registered newspaper 

(), (ü), (ii) and (iv) are correct 

10. 0legydnu 

(i), (iii) and (iv) are correct 

(i) 

(A) 6 months 
(C) 9 months 

Time period for obtaining attested copy of addressee's receipt of a registered article 

(ii) Gifts of certain items 
(i) Uncurrent silver coins 
(iv) Gold 

(A) ), (i), (ii) and (iv) are correct 
(C)(),(i) and (iv) are correct 

(B) 
(D) 

(B) (), (ii) and (iv) are correct 
(D) (i), (i) and (iv) are correct 

Articles included in Schedule I to Exports (Control) Order 1968, as amended from time to 
time, cannot be exported by parcel post without a licence from the ECT authorities except for 
() Commercial samples 

66)¬b4lowM)se 

(B) 
(D) 

3 

3 months 
12 months 

(),(i) and (ii) are correct 

All redirected correspondence is treated in the following manner: 

omlol60 

(0), (iii) and (iv) are correct 

Surface mail items received from any country for delivery in India may be redirected 
to any place within India 

(iü) Surface mail items received for delivery in India from any country not applying 
reduced charges for India may be redirected to another country by the surface mail 



15 

16 

13. 

(1) First class mails i.e. letter. Aerogrammes and post cards whether surcharged or un 
Surcharged are not eligible for free redirection by air within India 

(iv) If the charges in case of redirection of surface mail received for delivery in India 
from a country applying reduced charges for India not paid the charges before 
redirection of the item it will be treated as insufficiently paid and taxed equal to 
double the difference in the postage (A) (), (i), (iii) and (iv) are correct 

(C) Only (i), (ii) and (iv) are correct 

cases: 

without any charge 

() 
(ii) 

No liability is accepted for the loss of international registered articles in the following 

(ii) Containing prohibited items 

'force mnajeur 

(A) (i), (ii), (iii) and (iv) are correct 

(iv) When the sender has not made an enguiry within a period of 6 months 

(C) (i), (iii) and (iv) are correct 

14. la Gnôrì SnFes 

(C) 

Destruction of records in circumstances beyond control 

Click N Book is 

(A) 

(A) Online service for booking of Money Orders 
(B) Online service for booking of Postal Orders 

6)a/)0 

(A) 
(C) 

Online service for booking of 1Q 

(B) 
(D) 

(D) Online service for booking of Speed Post and Registered 

7 days 
15 days 

Poste Restante articles will be kept with the postmaster for 
claimed it will be returned to sender 

Only (ii) and (iv) are corTect 
Only (i) and (ii) correct 

(B) 
(D) 

International Speed Post 
C) International Tracked Packet 

(B) 14 days 
(D) 30 days 

4 

(), (ii) and (ii) are correct 
(ii), (ii) and (iv) are correct 

is the best economical service with visibility to send shipments to Asia pacific Region 

days and if not 

(B) International Parcel Post 
(D) None of these 

17. GOOOoo lo8 6nI)A6 

18 

19 

20 

21 

The compensation to be paid in the case of loss / total theft / total damage of International Parcels booked in India is up to 

(A) 
(B) 

(C) 
(D) 

40 SDR per parcel + 4.50 SDR per Kg or the value of the contents whichever is less 
30 SDR per parcel + 3.00 SDR per Kg or the value of the contents whichever is less 

6)al GOTONONS NogentoÕ, Mayo / G00H6mo / GtS)aJOS)tUÞ 

20 SDR per parcel + 2.00 SDR per Kg or the value of the contents whichever is less 
10 SDR per parcel +1.00 SDR per Kg or the value of the contents whichever is less 

a> om mloo6MO0lH mvadglGAnes SDR 300 H 0)gleng GOTOOOoeS 

For International articles of value above SDR 300 to be submitted to customs control shall 
bear on the front, a customs declaration form: 

(A) CN 22 
(C) CP 72 

Categories of Foreign Postal articles are 

|(A) Letter post and Parcel Post 

(D) 

(B) Airmail and Sea mail 
(C) Registration post and Insured Post 

All of the above 

of delivery at foreign country? 

(A) It will be sold by auction 
(C) Either of the above 

DIGI DAK 0s a 

What is the final disposal of foreign parcel in case of parcel treated as abandoned at office 

(B) 
(D) 

(A) Digital Platform for Booking Solution 

(C) Mail received ia Digital format 
(D) None of the above 

CN 23 
None of these 

5 

(B) 
(D) 

(B) Newsletter issued by Technology Division Postal Directorate 

It will be destroyed 
None of these 



What technology was used for the core banking solution (CBS) &n the IT Modernization 

Project? 

(A) Oracle 

23. 6Sl GwJM lbJOð O6)(06M wUol900) o0slo0o 60moeooð nß0 6JdW06M 
Moðaloo? 

(A) 
(C) 

Which vendor provided the ATM solution for the IT Modernization project? 

(i 

24. ulgllo moauonH0AUÙ poJOIAH: 

The following are the features of DIGIPIN: 

(ii) 
(ii) 

|(iv) 

(B) Finacle 

NCR and AGSWINCOR 
ORACLE 

(A) (), (i), (ii) and (iv) are correct 
(C) ), (ii) and (iv) are correct 

26.6n9sl 20 s@ynð 

(C) SAP 

DIGIPIN has 10 character alpha numeric code 

3TT 2.0 u 

The approximate Grid size of DIGIPIN is Sm x Sm square 
DIGIPIN is derived from latitude and longitude of a location 
DIGIPIN stores personal data of the addressee 

(A) 

IT 2.0 Darpan is replaced with 

(B) 

(B) HDFC 

25. wJN (DHRUVA) ngmooð ngOTO961/ T HAGG/ stands for 

(D) IBM 

(A) Digital Hub for Reference and Unique Virtual Address 
(B) Digital Hub for Rural and Urban Virtual Access 

(D) 

(C) Data Handling and Retrieval Unit for Virtual Applications 
(D) Dynamic Hosting Resource for Unified Virtual Archives 

(B) 
(D) 

(D) IBM 

() and (i) are correct 
), (ii) and (iüi) are correct 

(A)ESS App(B) IMA App (C) Dak Seva App(D) IME App 

27. lawoom (CPGRAMS) ngmonð ngro06rH/ GHAHT stand for 

6 

Customer public Grievance Redressal and Management system 
Centralized Public Grievance Redress and Monitoring System 

(C) Centralized Portal for Grievance Redress and Monitoring System 
Customer Portal for Grievance Redressal and Monitoring System 

28. 

29 

30 

The features of Direct Post are: 

(ii) 

(ii) 
(iv) 

(A) 

() 

(C) 

A minimum quantity of 1000 pieces can be accepted under direct post 
Direct post articles should not exceed the length and width of an Inland Letter 
Card 
Direct post articles can be sent outside India 

Direct post will bear no address or name on the communication 

IFSC of DOP for NEFT and RTGS is 

(), (1), (iii) and (iv) are correct 

(A) IPSO0000DOP (B) IPOSO000DOP 

(i) and (iv) are correct 

(i) 

(ii) Valid email address 

Following are the pre requisites for availing DOP internet banking 
Valid mobile number 

(iii) PAN number 
(iv) Valid Joint A savings account 

(A) (), (i), (iüi) and (iv) are correct 
(C)(), (ii) and (iv) are correct 

() 

Bank transfer 

(i) POSB transfer 
(ii) Money order 

31. GTYco900n9S noleiogela onwsgOml� GOANDGNR)A. GOOITUOmlla0Nmjo (MO6)9 

| (iv) Cheque 

International Philatelic deposit accounts can be closed and select the following refund 
modes: 

(A) (), (ü), (ii) and (iv) are correct 
(C)(), (ii) and (iv) are correct 

(B 
(D) 

(), (i) and (iv) are correct 

The following is correctly matched: 

(ii), (ii) and (iv) correct 

(C) DOPSO0001P (D) DOPS0000IPO 

7 

(B) (), (ii) and (iv) are correct 
(D) ), (ii) and (ii) correct 

32. 0069 anD)mOIoloô UOO lOo\ c02llelol49,M, 

(B) (i) and (iii) are correct 
(D) (i), (ii) and (iv) correct 

Commemorative stamp:- postage often issued on a significant date such as 
anniversary to honor or commemorate a place, event, person or object. 



35. 

(ii) 

(ii) 

|(iv) 

(A) 
(C) 

(i) 
(ii) 

PLI policy e bond through Digilocker: 

(iv) 

(A) 
(C) 

() 
(ü) 
(iü) 
(iV) 

Detinitive stamps:- postage stamps available for sale by post office for every day 

postal needs of the country. 

Auto paid up PLI policy means 

Service postage stamps:- postage stamps used for official mail posted by 
Government or semi Government 
Mint stamps:- used postage stamps 

), (ii), (ii) and (iv) are correct 
(), (ii) and (iv) are correct 

) 
(ii) 
(ii) 
(iv) 

Can be downloaded by all existing PLI policy holders using Digilocker app 
The print copy downloaded from the Digilocker is a valid copy for verification 
Aadhar is mandatory for downloading the PLI policy from Digilocker 

), (ii), (iii) and (iv) are correct 
(i), (ii) and (iv) are correct 

(A) ), (iü), (ii) and (iv) are correct 

Policy holder can download any number of times the digital policy bond from 
Digilocker 

(C) (), (iü) and (iii) are correct 

(B) 
(D) 

In which 36 or more premiums have been paid 

(), (ii) and (iii) are correct 
(ii), (ii) and (iv) are correct 

(B) 
(D) 

Has completed 3 years or more duration from the date of its acceptance 
Policy holder discontinues payment of further premia without intimation 
Policy shall be treated as matured on the date of discontinuation of payment of 
further premia 

The time period to file a complaint in respect of the following international articles for 
the case of compensation after the date of booking is as under: 

Parcel- 1 year 
Express mail service -4 months 

(), (ü) and (iv) are correct 

Registered and Insured article -6 months 

(A) (), (ii), (ii) and (iv) are correct 
(C)), (ii) and (iv) are correct 

(), (iii) and (iv) are correct 

(B)).(i) and (iv) are correct 
(D) (ü), (iii) and (iv) are correct 

International tracked packet service (ITPS) - 9 months 

(D) 
(B) () and (iv) are correct 

(i), (iii) and (iv) are correct 

36. Oo0aasl6nl)65 wOnA aernl (sorôrnonlÑ o061990o)M nlauorAO)Aaa 

Direct money transfer of IPPB has the following features 

38 

(i) 
(ii) 
(iü) Remiters identification to be done using mobile number 
(iv) Service charges (@ of 2% of transaction value and minimum service charge of 20/ 

(A) (), (i) and (ii) are correct 
(C) (), (ii) and (iv) are correct 

Allowing cash to account fund transfer for non IPPB customers/ remitters 

() 

Instant confirmation to remitter via SMS 

() 

37.lod (ala6m l6 (nJwOM mUNlaUonAOeUi O06)9 lOmoJOOEH 

Following are the key features of Jeevan Praman 

(A)() and (ii) are correct 

(ii) Jeevan praman ID is shared with pensioner by NIC directly 

(C) (i) and (iii) are correct 

(iv) Additional door step charges to be paid by customers for issuance of Jeevan praman 

(iv) 

This service is available only for IPPB Customers 
For every successful generation of Jeevan Praman, a fee of?I00 including GST will 
be charged 

(B) 
(D) 

(ii) Digital banking through virtual debit cards 

(ii 

|Digi Smart savings account of IPPB has the following key features and benefits 

(iii) 

(i) No charges for non-mai ance of minimum balance 

(A) (1), (i), (iii) and (iv) are correct 

(iv) 

(C) (), (ii) and (iv) are correct 

(i), (ii) and (iv) are correct 

(ii) Can be upgraded to premium saving account of IPPB 

(), (), (ii) and (iv) are correct 

No coverage for outpatient treatment 

(B) only (ii) is correct 
(D) 

A maximum yearly cumulative deposit of Z500000/- is allowed in the Digi Smart 
savings account 

| Niva Bupa Top Up Health Insurance plan offered through IPPB has the following features 

Coverage from 1 lakh extendable up to 15 lakh (2 lakh deductable) 

Tax benefit under Sec 80 D 

(A)(), (i), (ii) and (iv) are correct 
(C |(). (ii) and (iv) are correct 

only (ii) is correct 

Hospital daily cash 50/day up to 30 days 

9 

(B) (), (ii) and (iii) are correct 
(D) (i), (ii) and (iv) correct 

(B) ), (ii) and (iv) are correct 
(D) (ii), (iii) and (iv) are correct 



40. 

41 

42. 

43. 

Delivery of mail articles to an address other than the one provided at the time of 
booking may be made as follows: 
(i) 

(ii) 

When the addressee submits a formal request to the Post Office to deliver the 

article to a different address due to a change in residence, the article may be 
redirected accordingly. 

(ii) When the item is addressed to an office or institution and the recipient has been 
transterred to another branch or location of the same organization, the article 
may be redirected to the new address provided by the organization with proper 
authorization. 

If the curTent occupants at the address specified on the article inform the delivery 
personnel that the addressee has relocated and provide the new address, the item 
may be delivered to the alternate address after verification 

(iv) If the Contractual Customers provides second delivery address in a different city 
at the time of booking at the Post office, the article can been redirected to a 
different address from the one, initially provided on the article, if applicable. 

(A) ), (ii), (ii) and (iv) are correct 
|(C)), (iii) and (iv) are correct 

(A) Free of charges and fees 
(C 

"" franc de taxes et de droits (9o@ODONASNNmo/ hT Hdga / means 

Franked articles and taxes prepaid 

(i) 

O06)9 OO)o (albOO0I6m: 

(iiü) 

(B) 
(D) 

(() and (iv) are correct 
(), (ii) and (ii) are correct 

The following accounts can be closed through DOP internet banking with effect from the 
date noted against each 
(A) MIS account - 20.4.2024 & SCSS account - 17.8.2024 
(B) MIS account - 17.8.2024 & SCSS account - 20.4.2024 
(C) MIS account -20.4.2024 & SCSS account - 17.9.2024 
(D) MIS account - 17.9.2024 & SCSS account -20.4.2024 

(B) Franked articles 
(D) None of the above 

Following actions in accordance with the responses of 
If the PAN status is 'E'- Existing and Valid 

10 

If the PAN Status is 'E 'and Name status as 
N' Not Matched 

the PAN verification are as under: 
PAN may be accepted 

PAN shall not be accepted as 
valid PAN 

If the PAN Status is E and if the DOB status PAN shall not be accepted as 
is N -Not Matched valid PAN 

44. 

(iv) 

(A) (ii), (iii) and (iv) are correct 
(C) (), () and (iii) are correct 

46 

() 

(i) 

(iv) 

"service unpaid " OJOsl)6S A00J(Oo loo O0699Om A0OJ6GBUO UOOlOOGEMO 
(SOGO: 

Whether the following is correct in the case of "service unpaid" article 

If the PAN status is 'E' and if the Aadhar 
PAN Status is 'NA -Non- Individual PANs' 

) 
(i) 

(A) (iii) and (iv) are correct 
(C)) and (ii) are correct 

(iüü) 

(B) 
(D) 

(iü) 

Delivery clerk should attest the charge by placing his initials under the amount 
entered in the postage due stamp 

(i) 

In the case of after delivery and omission of superscription �service unpaid", request 
made by the Govermment officer to initial the postage taxed, should be complied by 
the Postmaster 

45. mU6ni GnlDa0y lnJolaom lG40slo oD6)9O)MOIOo 9¯ônIS(O06Mo 

(iv) 

In the case of after delivery and omission of superscription "service unpaid" request 
made by the Government officer to initial the postage taxed, should not be complied 
by the Postmaster 

(A) Only (i) and (ii) correct 

Delivery clerk need not attest the charge by placing his initials under the amount 
entered in the postage due stamp 

Sub postmaster's monthly report should also contain 
Statistics of savings bank and NSC transactions 

Money orders issued and paid 
Insured letters and parcels 

(C) Only (i), (ii) and (ii) correct 

PAN may be accepted as valid 
PAN 

(0) and (iv) are correct 
(), (iii) and (iv) are corect 

(B) 
(D) 

(iv)Ordinary registered letters and registered parcels 

Surface L Bags: More than 50 articles 
Statistical justification for closing of bags is follows 

(A)(i), (i) and (iv) are correct 
(C) (i), (i) and (iv) are correct 

Air mail PC: Between 50 to 150 articles 
Airmail bags: More than 150 articles 

(i) and (ii) are correct 
(ii) and (iv) are correct 

11 

Surface D bags: More than 50 articles, 10 registered letters 

(B) Only (ii) and (ii) correct 
(D)(), ii), (ii) and (iv) correct 

(B) Only (i) and (iv) are correct 
(D)(), (ii) and (iv) are correct 



47 RMS D)mll6m moGumUlgg alO)0)409)(00)Agloð ng006M VOO? 

Which of the following abbreviations in respect ofRMS unit is correct? 
(i TS = Transit Section 
(ii) SMO = Sorting Mail Office 
(ii) TM0 = Transit Mail Office 
(iv) M0= Mail Office 

(A)(ii), (ii) and (iv) are correct 
(C)(), (i) and (ii) are correct 

48. ll wlmAbg loe uloûeMomoð 30nolmu)g loe sSRM / SRM / ASRM- t DO l00 

Minimum frequency of visits by SSRM / SRM / ASRMs of Divisional Office of City 
Divisions to Mail offices are 

49. Sacs Collecteurs og006rH T 

(A) 2 visits a week to a mail ofices, each night set twice a fortnight, one post office a week 
(B)| 2 visits a week to a mail offices, each night set once a fortnight, one post office a week 
(C) 3 visits a week to a mail offices, each night set twice a fortnight, 2 post offices a week 
(D) 3 visits a week to a mail offices, each night set once a fortnight, one post office a week 

Sacs Collecteurs are 

(A) Airmails enclosed in a bag fora country other than to which the articles are addressed 
(B) Aimmails received duly adised on form AV-7 

(D) Airmails containing savaged mail 
(C) Aimails enclosed in a bag and collected in case of misconnection of mail 

mloooleroolol656Mo. 

(B) () and (iv) are correct 
(D)(), (ii), (ii) and (iv) are correct 

(A) Red 

Empty bags returned to foreign country bag label must be of 

(B) Green 

EFTA stands for 

|(A) European Free Trade Association 
(C) Emirates Fair Trade Association 

PART -B 

51.Da)naslng (EFTA) n9CTONSH/ yocts (EFTA) T 4TG 

12 

(C) Blue 

colour 

(D)Yellow 

(B) European Fair Trade Application 
(D) Emirates flight Training Application 

54. 

Citizenship Amendment Rules was notified on 

(A) 
(C) 

(A) Rakesh Sharma 

The first Indian to reach International space station 

(C) Shubhanshu Shukla 

a0NGOelw,000l enumulles0)mß? 

April 1!, 2024 
March 12, 2024 

(A) Indore 

(A) 
(C) 

55. GOGOOWJOl6el lamO00NAOolH 

|Airport in Ayodhya named after 

(A) 

Gnl6)0096n2 

(A) 

Which City in Central India does Ahilya Nagari Express Train connect to Kochuveli in 
Kerala? 

(B) 
(C) 

(B) Gwalior 

(D) 

Lord Rama 
Maharshi Valmiki 

Pradhan Mantri Mudra Yojana is 

Chat GPT 

(B) 
(D) 

(B) 
(D) 

13 

March 11, 2024 

What is the generative artificial intelligence chatbot developed by Google called? 

(B) Meta AI (C) Siri 

April 12, 2024 

Kalpana Chawla 
Prashant Nai 

(C) Nizammudin 

(B) Gautham Budha 
(D) Tulasidas 

(D) Yog Nagari 

(D) Gemini 

Loan to non-corporate, non-farm small / micro enterprises 
Immediate employment and livelihood opportunities to migrant worker 
Reduce poverty and vuinerability of urban poor households through self 
employment 

Provide Industry relevant skill training to youth to enhance their employability 



58. 

59. 

60. 

61. 

63. 

The name Mithali Raj is related to 

64 

(A) Football 

Rajpath, New Delhi is now known as 

(A) 
(C) 

(A) 

Jan Path 

Port Blair renamed as 

(C) 

Kartavya Path 

Sri Vijayapuram 
Swaraj dweep 

62.4(10+15+5x4-2x2) 

4.59 x 1.8 + 3.6 + 5.4 of 1/9- 1 

(A) 2.695 

(A) 192 

(B) Tennis 

(B) 2.795 

(A) 500 

(B) 72 

(A) 200 

(C)Cricket (D) Hockey 

(B) 5000 

(B) Rashtrapathi Bhavan Path 

(D) Veer Jawan Path 

(B) Netajipuram 
(D) Shaheed dweep 

s0, MOAOol6ei emuo6ly@)OS 18% é)gldbgIGiH, a)glas,oS 10% 9)nl67ð)slg06H, 
6nTd.b)slagos n9mO 90 (ODOGMEald emNos n9OD96H? 

(B)300 

(C)3.695 

y5 0 , 18% rAT 10% sfat qf sftat HT 90 , at 

14 

(C)82 

In a village, 18% of the populations are children and 10% of children are female. If the 
number of female children is 90, what is the population? 

(D)3.795 

(D) 92 

(C)600 

s0) nmAOo l6r Meoloo 10% (GOslye, 20% &nlgyð 6alen, 00000) 15% 

The price of a book includes 10% printing cost, 20% paper cost and another 15% labour cost. If the remainder is 110, what is the total price of the book? 

(C)400 

(D) 6000 

(D)500 

65. 

68. 

1060 (0)nJo 30) wowmo lairnolenas eIclA0)M eIoGo, 950 (0)aJAÕ 30) 
mOwmo ModA)Molenos gGr304»)n (ngaonAO8 20% b)5)0eINGH. 20% eIDso 

69. 

Profit earned by selling an article for 1060 is 20% more than the loss incurred by selling 
the article for 7950/-, At what price should the article be sold to earn 20%% profit? 

(A) 7 1800 

(A) 5% 

amlm aleeiooalß 45 oaNO)o DOgomlH 60 o O0NADO 73 n9m 
(GIOM]a1OOD lo A,)sl0erdoo)M),. GODOU8 0luolo Dmo alceioUOalH s4.45 (0)J 

(B) 1080 

A merchant blends two varieties of tea from two different tea gardens, one costing 745 per 
Kg and other 60 per Kg in the ratio of 7:3 respectively. He sells the blended variety at 
Z54.45 per kg. His profit percent is 

(A) Loss of 16 2/,% 
(C) Loss of 14 2/,9% 

(B) 10% 

67. s0) Nolo 6)anlnloo GO6JOS]Oolo les 7200/- 0]aJDOEH. GOQJOISIOro lo 
leas 16/;% ÜdNNDIO6MASloo, 
(SOSOOB64S)00l leGoSOÔ 1600/- 0)No nMoiA)) E0006Mlß 

(A)796 

(C) 1000 

Marked price of a washing machine is 7200/-. If it is sold at a discount of 162/,% of the 
marked price, the gain is 25%. Ifit is sold for }1 600/-below marked price, then there is a 

(B) Z816 

(C)9/% 

(D) 1200 

|(B)10560 

(B) Gain of 14 2/,% 
(D) Gain of 16 /-% 

Find the simple interest on 24800 at the rate of 8 V% per annum for a period of 2 years 3 
months. 

15 

(D) 11 1/%% 

(C) 918 

25% 

8000 0 UowIOEM nJeluo mloco6 loð 3 (JÐ-AOOlmeglod 9200 0) J000) aon), ndelo mloeð 3% Ndeulaod, GoÔ nQO0bl0 

(C) 11120 

An amount of 28000/- becomes 29200/- in 3 years at simple interest. If rate of interest is 
increased by 3%, it would amount to 
(A)79920 

(D)990 

(D)11820 



70. 

71. 

72. 

'A, 'B' 06 2 OlocHGOD)A6 600 (ojool elslel 
'C o 4 

O6sloo mlmo 90 0 mIw006M 

"A lent R600 to 'B' for 2 years and 150 to C' for 4 vears and received alogether from 

both 290 as Simple Interest. The rate of interest is 

|(A)| 12% 

(A) 

(B) 10% 

A man covers a certain distance at 90 km/hr and returns back to the starting point at 60 
km/hr. His average speed during the whole journey is 

(A) 

60 km/hr (B) 65 km/hr J(D)75 kmhr 

30) Oð 36 almlolm8gloß 630) mlDlo )0O lmlsM), Aoð oOOUOrol 50 abl.01 

30 kmph (B) 

onHRO0 A6 150 0aJ0)o ASo 6,0S)(OO). 

,nJelo mlooð oQ(OOIH 

A car covers a distance in 36 minutes. It runs at 50 kmph on an average. The speed at 
which the car must run to reduce the time of journey by 6 minutes will be 

42.86 kmph 

(C) 5% 

(B) 201 

(C) 72 km/hr 

(A) 50 workers (B) 100 workers 

(D) 49% 

(C)55 kmph 

73. )S®aJO0O 7 MUO6Jb)6)5 UOODUOOl 203 GT66MAloð, nß0O)o 6)aJloMo6UJO6)S0)o O6NB006(O0 MVO6UJO)6SD)o UOOOUOol 

16 

If average of 7 consecutive numbers is 203, then the average of the smallest and second 
number is 

(A) 203 

74. BOOU BO) w&0 G9Oel 150 slomo 6)06na 6)al) ol8oSO0 GOJangl ngQS)G0AM) (GOGRnNo 200 J6mle6)06)0 GæIele)001 mlDol40)M). ogmo0 50 glo 606 

(D) 60 kmph 

(C)202.5 

A man undertakes to do a certain work in 150 days. He employs 200 workers. He discovers that only a quarter of the work is done is 50 days. In order to complete the work on schedule, he must additionally employ 

(C)| 150 workers 

(D) 203.5 

(D) 200 workers 

75 

77 

'A' and 'B' can do a piece of work in 24 days. If efficiency of 'A is double than B', then in 
how many days 'A' alone can do the same work? 

78. 

(A) 30 

76.630) SooÝ B0) Bemos06rn) 8 D6rnle02d 6)A,061a noo)Aw)o D6000) S09 16 D6rnle0d 
6)A063 t0elw))A,D)O 6)a90. 

(A) 

(B) 36 

8 hrs 

A tap can fill a cistern in 8 hours and another tap can empty it in 16 hours. If both the taps are 
open, the time taken to fill the tank will be 

(A)64 
(C)4 

(C) 60 

(B) 10 hrs 

(D) 72 

(C) 16 hrs 

Suresh started cycling along the boundaries of a square field from corner point 'A'. Afer half 
an hour, he reached the corner point C, diagonally opposite to 'A'. If his speed was 8 km per 
hour, the area of the field in square km is 

(B) 8 

17 

(D) 24 hrs 

(D) Cannot be determined. 

0008 100 laeipolg& S0O D6mle6)lo8 40 alsenolo enOolengs 6nJmleo 
D6ml46)0oloo 30 a lseoolgd anO0lengs mwgoleFo GolaNol mamol69)m 

(GOGgnnoolo 32 

A man covers a distance of 100 km partly by bus at 40 km/hr and partly by scooter at 30 
km/hr. His average speed for the whole journey was 32 km/hr. How far did he go by bus? 

(A) 20 km (B) 25 km (C)30 km (D) 40 km 

79.0 dlumbo 0, (gOJÁb (TUawod 168 6XT0laigd pwogg A0OBJSs ml9elorg rmgo 
252 6mUng latoß IDOGMElo, �OGO muODOÕ 158 6Mrloind pOOD)LL 3009)6S 

The length of the shadow of a 168 cm tall person at a particular time of a day is 252 cm. 



81 

What will be the length of the shadow of a 158 cm tall person at the same time of the day? 

(A) 237 

82. 

(B) 242 

80. slomJo 7 D6ml49)& GEOel aJD)D 20 DO)aHOô Hß 10 glumvo 6bI6N3 630) GEOeI 
(ol00o bglo6)0lo8, 8 06mle)ß Geoei 0al)m 15 ODIWA) nQ0 glJo 

(A) 15 5/2 days 

lf 20 men working 7 hours a day can do a piece of work in 10 days, in how many days will 

15 men working for 8 hrs a day do the same piece of work? 

(B) 11 2/, days 

(A) 

afl0o (X-oô Mâôeslolol49)m GOWBBU& prJg0Ou (A), (B), (C), (D) nmluolo 

(C) 268 

Find out which of the figures (A), (B), (C) and (D) can be formed from the pieces given in 
fig (X)? 

(B) 

(A) 

(X) 

(B) 

(C) 6/6 days (D) 4/; days 

18 

Find out the alternative figure which contains fig (X) as its part 

(D) 234 

(C) (D) 

(C) (D) 

83. 06r` 

84. o6ne 

85. 

(A) 

There are certain common characteristcs properties between the two problem figures. 
Select a figure from amongst the Answer Figures which shows similar characteristic/ 
properties as shown by the Problem figures 

Gal084al(osBU8 

olo6)60OS)00) 

B 

(A) 

aNe 

6)nJOO) 

(B) 

19 

JGONI 

(C) 

There are certain common characteristcs properties between the two problem figures. Select 
a figure from amongst the Answer figure which shows similar characteristics/properties as 
shown by the problem figures 

(C) 

JGINITmnlGUon0AUÖI 

MJGO 

(D) 

mnfleuoaYOD)613. 

(D) 

Select a figure from amongst the Answer Figures which will continue the same series as 
established by the five problem figures 



87 

(A) 

(A) 

(B) 

Select a figure from amongst the Answer Figures which will continue the same series as 

established by the five problem figures 

(A) 11 

(B) 

Find the number of triangles in the figure 

all0owlel (l&AbO6M6813)0S n96mo e663(0TO) 

Find the number of triangles in the figure 

(B) 13 

(C) 

(A) 18 (B) 20 

88. aNOOl6el (olBAO6MGB)OS n)emo tb6)63OD)A 

(C) 

20 

(C) 24 

(D) 

(C) 15 

D 

(D) 

(D)27 

(D) 17 

(olo6)606JOMNO, 

Choose the nlternative which most closely resembles the mirror-image of the given 
combination 

(A) AAOMIAAAL 

(C) ArOrATAAA IM 

(A) 

TARA IN1014A 

B 

(A) 

Choose the correct mirror- image of the Fig (x) from amongst the four alternatives. 

(B) 

(D) 

(X) 

(B) 

21 

(C) 

ArOrAMIAAAT 

Find out which of the answer figures completes the figure matrix? 

AATOMIAAAT 

AAA 
(C) 

(D) 

(D) 



Iind out which of the answer figures conpleten the figure malx? 

(A) 

(A) 

P? 

(D) 

f (X) T lan y rr fagmit (A), (0), (C) 
Choone the correct wnter-image of the Fig (X) 
(C)und (D) given nlong witlh it 

(B) 

) 

22 

(C 

(D) it udt -ytafd4 1 
trom amongt thc four alternativen (A), (B), 

(X 

(D) 

(C) 

4ifa 

(D) 

94.aoo (X) (Boo voco luow Oaoo, OALOOGSO9 lo (noð0, lu lkolaom noel conl4M)0, 
f (X) % tan n f44it (A), (B), (C) st (D) if -gtafd 1 fr 
Choose the correet wnter-imago of the ig (X) Irom amongst the lour allernatives (A), (B), 

(C) and (D) given along with it 

95 

90. 

Select a suitable fron the answer figure that would replax the questun mak () 

90100 

aN(0o olooaor09]00)d» 

(A) (B) 

(A) 

Sclect a suitable from the answer fiyure that would replace the question mark () 

(A) (B) 

(C) 

ID 

(B) 

? 

23 

(D) 

Selcct a ligure from amongst the Answer Figures which will continue the series established 
by the four problem ligurcs. 

(C) (D) 

a< 
(C) (D) 



98. MOel lJg muo6lJeuð 6)e0S)(O0lole)M) GOGO GUOSml )sjM SOMISOOEL0OO 630) 
al0o Olo660r05)06)tb 

Select a figure from amongst the Answer Figures which will continue the series established 
by the four problem figures 

(A) 

99. 9oOOGSLS \o 

(A) 

(B) 

100. 9oOOGSBE l8 

GaJ0BalamoolH 

Select suitable figure from the Answer Set which will substitute this question mark so that a 
series is formed by the Problem figures taken in order 

(B 

Gal06JalaMoolm 

(A) 

1OX 

A 

clx c 
(B) (C) 

(C) 

Select suitable figure from the Answer Set which will substitute this question mark so that a 
series is formed by the Problemn figures taken in order 

****** 

24 

(C) 

(D) 

c 
(D) 

(D) 

(GIOMIGOOYOIO 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

